Bilan intermédiaire de la 3°™ période - Séquence 76 (CM2)
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Exercice 1 :
62,8 -2,73-4,581-7,4 0,008 — 23,651 — 0,047
Exercice 2 :
53,05 > 53,049 28,4 = 28,400 0,689 <0,7 12,37 < 12,408
Exercice 3 :
A:1,06 B:9,012 C:0,003 D:0,16
Exercice 4 :
7,09<7,19<7,195<7,2<7,205 [ 21,49 <21,493<21,56<21,508 <21,58
Exercice 5 :
54,71 54.8 54,892 + 2 autres a inventer
0,702 0,847 0,75 + 2 autres a inventer
Exercice 6 :
4/1000 dam =4 cm 7/100 m2 = 7 dm? 8/10 cm? =80 9/100 m =9 cm
6/1000 m2 = 60 cm? 5100 hm =5m 7/1000 km = 7m
5/1000 dm? = 5 mm?
Exercice 7 :

23,096 - 3,751 —99,107 — 44,55
130,793 -5,88-12,3-7,14 - 376,5
912 - 3,247 - 1,8 - 0,0601 — 9070

q=285 q =397 q = 302 q =605 q=29
r=3 r=6 r=1 r=42 r=79
Exercice 8 :

N°1

42 812 :14 =3 058
3 058 exemplaires ont été vendus

N°2
5—4,5780 = 0,422 m*

Exercice 9 : constructions




